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radians 360° degrees equals 2T radians

180° = a- radian

why ? explained later

find some ratios without a calculator
.

pragmatically for me exam
.

0=1--14 ( 45)
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cos ¥ = Fz



find trig ratios
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y= Sin -14
tan -14 = •
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idea
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the for
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4=51^0 angles
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From me definition for all angles Khaya the
unit circle

find cos 2¥ and sin 2¥
II find the coordinate
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cos = -1-2 7

Check using
the calculator

5k¥ = Kg cus 120 =

sin 120 =
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unit circle

xltyl=l y=±Fx2

Use me unit circle to find Corso
, sire,

tune for

special angles (without a calculator ]

Example

for 0<-04-360 solve

find 0 when
Loso = 0-4

Y x coordinate of

p is 0-4

Use calculator

b
g,

o = cos
- '

( o -41

0=66.4

Loser = 0-4
y

line 1=0-4

Of 0=360-66.4
X 0=293.6
-

(9166-4) co>( 293.0)

Edo -4

line 71=0-4



QQ Solve me following

( it coso = -112 ( calculator free )

( ii ) Colo = - 0.52 ( with calculator /

Liii ) sine = 0.1 ( win calculator )

Civ ) Sino = - 0.0 ( win calculator )

( in taro -- 1 ( calculator free )

(v) taro _- -1.1 ( with calculator)


